Ch_12_Lab_Titanic
Your Name Here
Add Date Here
[bookmark: preparation]Preparation
require(knitr)
require(haven)  ## install.packages("haven")
require(car)    ## install.packages("car")
require(AER)    ## install.packages("AER")
library(Hmisc)  ## use the describe command
library(mfx)


opts_chunk$set(echo = TRUE)
options(digits = 3)
#opts_knit$set(root.dir ="C:/Users/baileyma/Documents/Textbook/OUP/Supplementals_Jan2019/Supplementals_July2019/Labs_R")
  ## As needed, set path to folder where data is located.
  ## For example: opts_knit$set(root.dir ="C:/Data")
[bookmark: Xbb5303de973d646a1f11bbece68ea38bd19a3cd](a) Use a LPM to estimate the effect of passenger class on survival.
dta <- read_dta("Ch12_Lab_Titanic.dta")    # Load data
[bookmark: X3c3d0bf075ecf2cdda2adc5a195506d299433c0](b) Assess the following: did being a women or child affected survival? Did boarding location (a rough proxy for country of origin) affect survival? Ireland is Queenstown (“Q”), France is Cherbourg (“C”) and the Englad is Southampton (“S”). Treat Southampton as the reference category. Control for age in your model.
[bookmark: X48295b2c570fbba02df1ae2de295585f789ee66](c) For the model from above, what are the minimum and maximum predicted probabilities of survival?
[bookmark: X9d95e524775dbb13e8b048e156b7bdf8d415b38](d)What is the name, age, gender and passenger class of the person with the lowest probability of surviving?
[bookmark: Xe70c14b138df2883c309e7e23e26866a1febe8b](e) What is the name of the person with the highest probability of surviving?
[bookmark: X36da6b161e1907a9bf22f1eb20cb01271991836](f) Estimate a probit model where survival is a function of (only) passenger class. Treat passenger class as a nominal variable. Compare statistical significance to a similar LPM model. Is there an easy way to interpret the coefficients?
[bookmark: X8607c75cffe042998266cf85c8e715452f84778](g) Estimate a probit model where survival is a function of passenger class (treated as a nominal variable) age, gender, child and embarkation location. What is the minimum and maximum fitted value?
[bookmark: Xfc40284cbb93749b4a03e5097b6116230ba0e36](h) What is the name of the person with the lowest probability of surviving?
[bookmark: X14356e74dfdb3c2e701bbfb90cb2b7847a363e9](i) For the above model, what is the effect of growing one year older (for an adult)? (Do this “manually”, using the observed-value, discrete difference method described in the book/lecture.)
[bookmark: Xf969a36d51298edfc1c0b061e801994cff6aefa](j) Compare the probit effect of age to the LPM effect of age in part (b)
[bookmark: Xf6d1ef4265652391466e83e9754b1f6e0cfdb66](k) What is the effect of the passenger class, female and child variables in the above probit model? Use the mfx package as described in the lecture. Compare the predicted effects of these variables in the probit model to the results in the LPM in part (b). You need only discuss one of these variables, but please note all of them as you do the work.
